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R4.8.1 7]"/3/(“/ 100 715 93 75 82 93| 100 96 96 96 | 100 96 | 100 | 100 82 96 | 100 32 96 | 100 904
R4.8.2 = 100 84 98 74 92 96 92 96 96 | 100 | 100 98 | 100 | 100 82 90 | 100 42 92 | 100 91.6
R4.8.2 o254 92 83 92 83 92 92 | 100 92| 100| 100 | 100| 100| 100| 100| 100 | 100 | 100 33 83| 100 92.1
R4.8.3 BRI 99 77 95 55 85 88 93 95 95 96 | 100 94 98 | 100 77 96 97 26 96 98 88.0
R4.8.3 =5 98 85 92 65 85 84 98 95 94 99 | 100 94 100 | 100 80 96 | 100 39 93 99 89.8
R4.8.3 [ L 100 82 94 72 88 98 | 100 96 96 98 98 96 | 100 | 100 | 100 96 | 100 22 88| 100 91.2
R4.8.3 7]"/3/(“/ 100 69 94 81 94 88| 100 | 100 | 100 88| 100| 100| 100 | 100 88| 100 | 100 38 94 | 100 91.7
R4.8.4 Illﬁ? 100 1 93 64 74 98 93 93 98 98 98 98 98 | 100 86 95| 100 24 93 98 88.6
R4.8.4 23 98 76 76 49 80 80 89 93 87 93 98 93 98 98 91 91 98 16 84 98 84.3
R4.8.4 Ao542] 100 63| 100 75 75| 100 100 | 100 | 100 88| 100 88| 100 | 100 88 75| 100 25 88| 100 88.3
R4.8.5 B 100 88 80 62 81 91 96 95 96 95 99 91 98 | 100 83 92 98 13 80 99 86.9
R4.8.5 B 100 75 88 48 86 89 96 97 88| 100 | 100 97| 100 | 100 86 96 | 100 27 93 99 88.3
R4.8.5 = N 100 91 95 71 91 93| 100 98 96 98 | 100 98 | 100 98 93 95 98 82 91| 100 94.4
R4.8.5 A2542] 100 90 90 83 76 83 93| 100 97 97 97| 100( 100 | 100 79 97 | 100 21 97 | 100 90.0
R4.8.8 o254 97 78 89 67 72 86 94 94 94 86| 100 97 | 100 97 94 92| 100 42 86| 100 88.3
R4.8.9 BRI 99 80 86 47 74 91 82 93 88 89| 100 91 99 97 76 97 | 100 26 96 97 85.4
R4.8.9 Z2EE 100 81 96 70 80 95 99 92 92 98 97 91 99 98 93 97 | 100 34 90 | 100 90.1
R4.8.9 Ao542) 100 75 95 70 80 95| 100 | 100 95| 100 | 100 | 100 95| 100 90 ( 100 | 100 15 65 95 88.5
R4.8.10 L 98 88 87 52 71 92 90 98 94 98 98 92| 100 | 100 88 90 | 100 8 96 94 86.7
R4.8.10 :Fﬁ 100 73 95 62 80 91 90 92 84 94 | 100 92| 100 | 100 96 94 99 73 97 95 90.4
R4.8.10 INIE 100 80 89 53 76 87 98 84 91| 100 96 87| 100 98 87 96 98 16 93| 100 86.5
R4.8.10 KR 08 83 91 56 83 91 98 99 96 90 | 100 94 | 100 98 94 94 | 100 42 95 98 90.0
R4.8.10 22542, 100 83| 100 67 89 89 94 94 94| 100| 100| 100| 100 | 100 78 94 | 100 17 94 94 89.4
R4.8.12 2242, 100 83| 100 61 67| 100| 100 94| 100| 100| 100| 100 | 100 | 100 83 94 | 100 28 94 | 100 90.2
R4.8.13 A2542] 100 75 92 92 92 | 100 92| 100 92| 100 | 100 92| 100 | 100 92 92 | 100 25 92 | 100 914
R4.8.15 2542 100 78 94 83 67| 100| 100 | 100 83 94 | 100 89| 100 94 72 94 | 100 28 89| 100 88.3
R4.8.16 A2S542] 100 57| 100 57 86 93| 100 100| 100| 100| 100 | 100 | 100 | 100 86| 100 | 100 21| 100 | 100 90.0
R4.8.17 A4 92 83 88 58 58 92 83 92 88 88 92 79 92 88 71 92 92 17 83 92 81.0
R4.8.18 LyhZE 92 78 90 49 73 90 94 98 88 94 | 100 94 100 | 100 96 98 98 35 94 96 87.9
R4.8.18 KPR 97 79 92 58 78 91 95 95 94 95 99 96 99 99 95 97 99 31 94 99 89.1
R4.8.18 & 100 78 97 53 87 97 97 91 99 98 99 96 | 100 | 100 76 99 99 17 88 99 88.5
R4.8.18 %R 98 83| 100 60 78 90 | 100 95 98 98| 100| 100 | 100 | 100 73 90| 100 23 80| 100 88.3
R4.8.18 A542] 100 80| 100 70 80 80| 100| 100| 100| 100| 100| 100 | 100 | 100 90| 100 | 100 0 90| 100 895
R4.8.19 NS 99 79 89 62 78 92 96 93 96 96 98 92 98 | 100 92 97 | 100 29 95 98 89.0
R4.8.19 =E 98 81 98 65 78 96 98 83 89 98 96 96 98 96 93 93| 100 43 98 98 89.8
R4.8.19 =LV-F 96 86 89 51 79 86 96 89 91 99 | 100 96 | 100 99 85 94 99 24 96 96 87.6
R4.8.19 iiﬁ 99 84 99 51 84 90 96 91 94 97 99 96 | 100 97 96 99 | 100 28 96 97 89.7
R4.8.19 = 99 74 89 55 84 90 95 96 95 93| 100 91| 100 99 88 95 96 25 95 96 87.8
R4.8.19 Ac LM 100 84 91 67 84 96 | 100 91 96 | 100 98 95 96 | 100 98 96 | 100 19 98 | 100 90.5
R4.8.19 A2o542) 100 75 88 75 75| 100 | 100 96 96 | 100 | 100 96 | 100 | 100 92 96 | 100 29 88| 100 90.3
R4.8.20 2542, 100 75 83 83 71 88 96 | 100 | 100 92 | 100 96 | 100 | 100 92 96 | 100 13 92 | 100 88.9
R4.8.22 7]"/3/(“/ 100 77 93 73 80 97 97 93 93 90| 100 971 100 | 100 87 90| 100 33 90 97 89.4
R4.8.23 hE,JII 100 67 83 63 78 93 93 85 87 91 96 89| 100 | 100 89 91 98 17 85 98 85.2
R4.8.23 J\RP 100 71 95 69 71 90 93 93 90 90 | 100 88| 100 (| 100 | 100 95| 100 38 99 | 100 89.1
R4.8.23 BRI 100 83 99 69 86 97 | 100 96 90 96 | 100 99 [ 100 99 | 100 | 100 99 35| 100 | 100 924
R4.8.23 R 98 75 94 57 90 80 94 94 98 92| 100 88| 100 98 92 96 | 100 51 92 | 100 895
R4.8.23 A2542] 100 77 92 88 85 96 | 100 96 88 96 | 100| 100 | 100 | 100 81 96 | 100 23 73| 100 89.6
R4.8.24 &R 98 82 93 52 86 93 99 91 95 99 | 100 92 99 | 100 96 96 99 26 96 | 100 89.6
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R4.8.24 K[ 100 79| 98| 62| 83| 98| 98| 95| 98| 98| 100| 95| 100| 100| 88| 88| 100| 19| 90| 100 89.5
R4.8.24 AA | 100| 85| 87| 56| 87| 95| 90| 92| 90| 98| 97| 97| 100| 98| 89| 98| 97| 13| 97| 95 88.1
R4.8.24 ZEE | 99| 74| 99| 64| 89| 95| 97| 97| 99| 100| 100| 96| 100| 98| 94| 100| 100| 25| 89| 98 90.7
R4824 |A>54>] 100| 60| 90| 80| 75| 95| 90| 95| 95| 95| 100| 95| 100| 100| 80| 95| 100| 40| 95| 100 89.0
R4.8.25 % ] 99| 87| 88| 55| 87| 90| 93| 94| 96| 97| 97| 94| 99| 99| 97| 94| 99| 25| 90| 93 88.7
R4.8.25 = 100| 84| 89| 53| 69| 98| 94| 98| 87| 98| 100| 94| 98| 98| 77| 92| 98| 19| 89| 95 86.5
R4825 |A>54>| 100| 71| 100| 86| 71| 86| 100| 100| 100| 100 | 100| 86| 100| 100| 86| 100| 100| 29| 57| 100 88.6
R4.8.26 FNH 98| 84| 94| 70| 83| 97| 98| 94| 100| 95| 98| 97| 98| 100| 89| 98| 97| 17| 92| 94 89.7
R4.8.26 BEIRE | 98| 80| 87| 58| 87| 96| 100| 89| 96| 100 98| 93| 100| 96| 96| 98| 100| 7| 93| 100 88.6
R4826 |A>S54| 100| 90| 100| 77| 77| 93| 100| 93| 100| 97| 100| 93| 100| 100| 80| 93| 100| 17| 87| 100 89.9
R4827 |A>S54| 100| 79| 100| 71| 71| 86| 100| 93| 93| 100| 100| 100| 100| 100| 93| 100| 100| 36| 93| 100 90.8
R4829 |A>54] 100| 56| 94| 63| 69| 100| 100| 100| 100 | 100 | 100 | 100 | 100| 100| 75| 94| 94| 19| 94| 100 87.9
R4830 |A>54] 100| 75| 95| 75| 85| 95| 100| 100| 100| 100 | 100 | 100 | 100 | 100| 85| 100| 100| 35| 85| 95 91.3
R4.8.31 b 100| 89| 94| 43| 89| 100| 100| 94| 97| 97| 100| 97| 100| 100| 86| 100| 100| 31| 97| 97 90.6
R4831 |[A>S54] 100 77| 92| 69| 100| 92| 92| 100| 100| 100| 92| 77| 92| 92| 85| 92| 92| 23| 85| 92 87.2

o0 S =1 990 | 785 | 92.7| 651 | 80.7 | 92.4 | 96.2 | 949 | 946 | 96.4 | 99.0 | 946 | 99.3 | 99.0| 87.7| 952 | 99.1 | 27.4 | 90.6 | 98.2 89.0
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=HEH | B8R 0 | 553 [1053 | 1553|2053 | 2553 | 3053 | 3553 | 4053 | 4553 | 505 | 5542 | 607 | 6553 | 7052 | 7543 | 804 | 8557 | 9053 [ 9553 | 10057
R48.1 | oA 3.6% 10.7%| 14.3%| 28.6%| 25.0%  17.9%
R4.8.2 =B 6.0%| 20.0%| 28.0%| 28.0%  18.0%
R&S2 |ALSAY 8.3%| 8.3%| 25.0%| 50.0% 8.3%
R4.8.3 B 1.1%| 1.1%| 8.4%| 9.5%| 23.2%| 28.4%| 22.1% 6.3%
R4.8.3 4 ] 2.4%| 2.4%| 11.8%| 15.3%| 32.9%| 21.2%|  14.1%
R4.8.3 kL 4.0%| 20.0%| 30.0%| 40.0% 6.0%
R483 (A TA4 18.8%| 43.8%| 25.0%|  12.5%
R4.8.4 11} 2.4% 7.1%| 9.5%| 16.7%| 35.7%| 21.4% 7.1%
R4.8.4 =+ 2.2% 2.2% 13.3%| 13.3%| 28.9%| 13.3%| 20.0% 6.7%
R&SA |AISALY 12.5%| 12.5%| 25.0%| 12.5%| 25.0%  12.5%
R4.8.5 B 1.0% 4.1%| 6.1%| 14.3%| 19.4%| 32.7%| 21.4% 1.0%
R4.8.5 B 1.4%| 1.4%| 5.5%| 11.0%| 23.3%| 30.1%| 15.1%|  12.3%
R4.8.5 = N 1.8% 1.8%| 14.3%| 7.1%| 33.9% 41.1%
R485 (AT (Y 3.4% 3.4% 3.4% 17.2%| 20.7%| 37.9%  13.8%
R4S |[ALSALY 2.8% 2.8%| 16.7%| 19.4%| 25.0%| 19.4%|  13.9%
R4.8.9 B 1.4%| 5.4%| 10.8%| 16.2%| 27.0%| 16.2%| 17.6% 5.4%
R4.8.9 Z2EE 1.7%| 6.7%| 5.9%| 17.6%| 25.2%| 26.9%|  16.0%
R&SY |ALSALY 5.0%| 10.0%| 20.0%| 40.0%| 25.0%
R4.8.10 AL 1R 3.8%| 9.6%| 11.5%| 21.2%| 30.8%| 21.2% 1.9%
R4.8.10 T 1.3%| 5.1%| 6.3%| 13.9%| 31.6%| 29.1%|  12.7%
R4.8.10 INE 2.2% 2.2%| 11.1%| 11.1%| 15.6%| 33.3%| 22.2% 2.2%
R4.8.10 KR 0.8%| 4.8%| 8.7% 19.8%| 26.2%| 23.8%|  15.9%
R4810 |[ALTALY 5.6%| 5.6% 5.6%| 11.1%| 33.3%| 27.8%|  11.1%
R48.12 | oAV 11.1%| 16.7%| 33.3%| 33.3% 5.6%
R48.13 | oAV 8.3% 8.3%| 33.3%| 25.0%  25.0%
R48.15 |[ASAL 5.6% 5.6%| 5.6%| 16.7%| 38.9%| 16.7%  11.1%
R4816 |[ATALY 7.1%| 21.4%| 42.9%| 21.4% 7.1%
R48.17 |ATA| 8.3% 4.2% 8.3%| 20.8%| 41.7%| 12.5% 4.2%
R4.8.18 L= 2.0%| 2.0% 5.9%| 7.8%| 25.5% 23.5%| 31.4% 2.0%
R4.8.18 KPE 1.3% 52%| 5.2%| 16.9%| 35.1%| 26.0%|  10.4%
R4.8.18 ¥R 2.0%| 2.0%| 12.0%| 19.0%| 43.0%| 17.0% 5.0%
R4.8.18 £iR 2.5%| 5.0%| 22.5%| 15.0%| 17.5%| 27.5%|  10.0%
R48.18 |A T 30.0%| 50.0%| 20.0%
R4.8.19 = 0.9% 4.5%| 13.4%| 16.1%| 33.9%| 21.4% 9.8%
R4.8.19 v =y = 1.9% 1.9%| 1.9% 7.4%| 18.5%| 27.8%| 29.6%  11.1%
R4819 | XLVI=F 1.3%| 5.0%| 8.8%| 5.0% 18.8%| 33.8%| 22.5% 5.0%
R4.8.19 B 2.9%| 2.9%| 5.9%| 17.6%| 38.2%| 25.0% 7.4%
R4.8.19 12 3.6%| 10.0%| 8.2%| 19.1%| 26.4%| 30.0% 2.7%
R4.8.19 4t LM 1.8% 8.8%| 14.0%| 33.3%| 33.3% 8.8%
R4819 |[AITALY 4.2%| 8.3%| 4.2% 4.2%| 33.3%| 33.3%  12.5%
R4820 |ALSALY 4.2% 8.3%| 4.2%| 16.7%| 29.2%| 29.2% 8.3%
R4822 | 1oAY 3.3%| 6.7%| 30.0%| 30.0%| 20.0% 10.0%
R4.8.23 HBJI| 2.2% 2.2%| 2.2%| 6.5%| 23.9%| 15.2%| 26.1%| 21.7%
R4.8.23 I\F 1.3%| 1.3% 10.0%| 5.0%| 15.0%| 32.5%| 21.3%|  13.8%
R4.8.23 BRI 5.6%| 11.3%| 31.0%| 35.2% 16.9%
R4.8.23 FRAE R 5.9%| 2.0%| 15.7%| 15.7%| 13.7%| 27.5%|  19.6%
R4823 (A TAY 3.8% 3.8% 7.7%| 19.2%| 19.2%| 30.8% 15.4%
R4.8.24 ¥R 1.0% 3.0% 2.0% 5.0% 20.8%| 30.7%| 28.7% 8.9%
R4.8.24 K 2.4% 4.8%| 2.4%| 33.3%| 21.4%| 21.4%  14.3%
R4.8.24 mAR 1.6% 1.6%| 1.6% 3.3%| 9.8%| 18.0%| 32.8%| 29.5% 1.6%
R4.8.24 ZEE 1.8%| 5.4%| 19.6%| 32.1%| 31.3% 9.8%
R4824 |ALTSALY 50%| 5.0% 5.0% 25.0% 30.0% 10.0%  20.0%
R4.8.25 BE [ 1.5% 1.5% 3.0%| 9.0%| 13.4%| 32.8%| 32.8% 6.0%
R4.8.25 = 1.6% 1.6%| 1.6%| 4.8%| 16.1%| 24.2%| 29.0%| 12.9% 8.1%
R4825 |ALTSA 14.3%| 14.3% 42.9% 14.3%  14.3%
R4.8.26 FlH 1.6%| 1.6%| 14.1%| 17.2%| 23.4%| 32.8% 9.4%
R4.8.26 EIRE 1.8%| 16.4%| 12.7%| 45.5%| 21.8% 1.8%
R48.26 |ALTAL 3.3% 3.3%| 10.0%| 10.0%| 26.7%| 40.0% 6.7%
R4827 (A TAY 28.6%| 28.6%| 42.9%
R4829 | oAV 12.5%| 31.3%| 43.8%| 12.5%
R4830 |[ALTSAL 10.0%| 20.0%| 25.0%| 25.0%|  20.0%
R4.8.31 pE 3 2.9%| 8.6%| 14.3%| 40.0%| 17.1%  17.1%
R4S3 |ATSALY 7.7% 7.7%| 15.4%| 46.2%| 7.7%|  15.4%
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